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. A histogram consists of

(i) rectangles (ii) sectors (iii) triangles (iv) squares

. The width of the rectangles in a histogram represents
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(i) frequency of the class (ii) mid values of the class (iii) class interval (iv) number of classes

. Ina

histogram

(i) the lengths of all rectangles are equal (ii) the length and width of each rectangle are in proportion

(iii) the width of all rectangles are equal (iv) the lengths and widths of all rectangles are equal

. ldentify the class interval table for the given histogram.
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Class-Interval s——sp
Class-Interval |39 -43|43-47|47 -51|51-55|55-59|59-63|63-67|67-71
Frequency 71 18 44 31 35 32 78 84
Class-Interval |39 -43|43-47|47-51|51-55|55-59|59-63|63-67|67-71
Frequency 71 18 31 44 39 32 78 84
Class-Interval |39 - 43|43 -47|47 -51|51-55|55-59|59-63|63-67|67-71
Frequency 71 18 44 31 39 32 78 84
Class-Interval |39 - 43|43 -47|47-51|51-55|55-59|59-63|63-67|67-71
Frequency 71 84 44 31 39 32 78 18
Class-Interval |39 -43 |43 -47 |47 -51|51-55|55-59|59-63|63-67|67-71
Frequency 71 18 46 31 39 32 78 84




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" histogram.

Y

No, of Patients
o
[==]

46| 48 |50 | 52 | 54 | 56
e e e

Age (in years) s————»

Age (in years) (46 - 48|48 -50|50-52|52-54|54-56

) "No. of Patients | 29 32 44 38 45

Age (in years) (46 - 48|48 -50|50-52|52-54|54-56
No. of Patients 29 45 44 38 32

(if)

Age (in years) (46 -48|48-50|50-52|52-54|54-56

iii
(i) No. of Patients 29 32 49 38 45

Age (in years) 46 -48|48-50|50-52(52-54|54 -56

iv
(iv) No. of Patients 29 35 44 38 45

Age (in years) (46 - 48|48 -50|50-52|52-54|54-56
No. of Patients| 29 44 32 38 45

(v)




6. ldentify the class interval table for the given histogram.
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Weight (in kg) s———a—n

Weight (in kg) (41 -43|43-45|45-47|47-49(49-51|51-53|53-55|55-57
No. of students 20 19 16 23 7 14 12 16

(i)

Weight (in kg) |41 -43|43-45|45-47|47-49|49-51|51-53|53-55|55-57

i
(i) No. of students| 20 16 21 23 7 14 12 19

Weight (in kg) (41 -43|43-45|45-47|47-49|49-51|51-53|53-55|55-57

(i) No. of students 20 19 21 23 2 14 12 16

Weight (in kg) |41 -43|43-45|45-47|47-49|49-51|51-53|53-55|55-57

(iv)

No. of students 20 19 21 23 7 14 12 16

Weight (in kg) |41 -43|43-45|45-47|47-49|49-51|51-53|53-55|55-57

\
W) No. of students| 20 19 23 21 7 14 12 16




7. ldentify the class interval table for the given histogram.

Frequency e—>

7732513551385 141514451475 505]535 5

Class-Interval  s———a—n

(0 Class-Interval |33 -35|36-38|39-41|42-44|45-47|48-50|51-53|54-56
i
Frequency 41 99 96 56 80 122 127 39

(i) Class-Interval |33 -35|36-38(39-41(42-44|45-47|48-50|51-53|54-56
i

Frequency 41 39 96 56 80 122 127 99
(i) Class-Interval |33 -35(36-38|39-41|42-44|45-47|48-50|51-53|54-56
iii

Frequency 41 99 56 96 80 122 127 39
(iv) Class-Interval |33 -35|36-38|39-41|42-44|45-47|48-50|51-53|54-56
iv

Frequency 41 99 98 56 80 122 127 39
W) Class-Interval |33 -35|36-38|39-41(42-44|45-47|48-50|51-53|54-56
%

Frequency 41 99 96 56 85 122 127 39




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" histogram.

Y

No, of Patients
o
[==]

51515551595163.5/67.5 {715

Age (in years) s————»

Age (in years) [52-55|56-59|60-63|64-67|68-71

i
(M No. of Patients 31 35 11 43 21

Age (in years) |52-55|56-59|60-63|64-67|68-71
No. of Patients 31 21 15 43 35

(if)

Age (in years) |52 -55|56-59|60-63|64-67|68-71

iii
(i) No. of Patients 31 18 11 43 35

Age (in years) |52-55|56-59(60-63(64-67(68-71

iv
(iv) No. of Patients 31 11 21 43 35

Age (in years) [52-55|56-59|60-63|64-67|68-71
No. of Patients| 31 21 11 43 35

(v)




9. ldentify the class interval table for the given histogram.
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Weight (in kg) s——ap

Weight (in kg) (14-18(19-23|24-28|29-33|34-38(39-43(44-48
No. of students 20 8 34 25 19 9 24

(i)

Weight (in kg) [14-18|19-23|24-28(29-33(34-38(39-43/44-48
No. of students 20 8 29 20 19 9 24

(if)

Weight (in kg) |14 -18|19-23|24-28|29-33|34-38(39-43|44-48

() o of students | 20 24 29 25 19 9 8

Weight (in kg) (14 -18|19-23|24-28|29-33|34-38|39-43|44-48

(V) No. of students 20 8 29 25 19 9 24

Weight (in kg) (14 -18|19-23|24-28(29-33|34-38|39-43|44-48

(v)

No. of students 20 29 8 25 19 9 24




10. Heights of 145 students (in cm) are given below. Identify the class interval table for the given histogram.

Y

No, of students

1271132 1137 1142 1 147 152

(i)

(if)

(iii)

(iv)

(v)

Height (in cm)

— e

Height (in cm)

127 - 132

132 -137

137 - 142

142 - 147

147 - 152

No. of students

50

19

24

37

15

Height (in cm)

127 - 132

132 -137

137 - 142

142 - 147

147 - 152

No. of students

50

19

28

37

15

Height (in cm)

127 - 132

132 - 137

137 - 142

142 - 147

147 - 152

No. of students

50

24

19

37

15

Height (in cm)

127 - 132

132 -137

137 - 142

142 - 147

147 - 152

No. of students

50

15

24

37

15

Height (in cm)

127 - 132

132 - 137

137 - 142

142 - 147

147 - 152

No. of students

50

15

24

37

19




11. Heights of 185 students (in cm) are given below. Identify the class interval table for the given histogram.

No, of students

Y

12251130.5]138.5/146.5/154.5/162.5]

1705

1785/1865] |

(i)

(ii)

(iii)

(iv)

(v)

Height {in cm)

——

Height (in cm)

123-130

131-138

139 - 146

147 - 154

155 -162

163 -170

171-178

179 - 186

No. of students

39

28

33

35

12

11

9

14

Height (in cm)

123-130

131-138

139 - 146

147 - 154

155 -162

163-170

171-178

179 - 186

No. of students

39

28

33

35

16

11

9

14

Height (in cm)

123-130

131-138

139 - 146

147 - 154

155 -162

163 -170

171-178

179 - 186

No. of students

39

28

35

33

16

11

9

14

Height (in cm)

123-130

131-138

139 - 146

147 - 154

155-162

163-170

171-178

179 - 186

No. of students

39

28

29

35

16

11

9

14

Height (in cm)

123-130

131-138

139 - 146

147 - 154

155 -162

163 -170

171-178

179 - 186

No. of students

39

14

33

35

16

11

9

28




12. Heights of 156 plants (in cm) are given below. Identify the class interval table for the given histogram.
b

Mo, of plants
n
=

33 58 B3 B8 | 73 | 78 | 83 | 88 | 93

Height (in cm) s——a

Height (in cm) |53 -58|58-63|63-68(68-73|73-78|78-83|/83-88|88-93
No. of plants 15 40 18 6 7 6 29 35

(i)

Height (in cm) |53 -58|58-63|63-68|68-73|73-78|78-83|83-88|88-93
No. of plants 15 35 6 18 7 6 29 40

(ii)

Height (in cm)|53-58|58-63|63-68|68-73|73-78|78-83|83-88|88-93
No. of plants 15 35 18 6 9 6 29 40

(iii)

Height (incm) |53-58|58-63|63-68|68-73|73-78|78-83|83-88|88-93
No. of plants 15 35 18 6 7 6 29 40

(iv)

Height (in cm) |53 -58|58-63|63-68|(68-73|73-78|78-83|/83-88|88-93
No. of plants 15 35 16 6 7 6 29 40

(v)




13. Heights of 212 plants (in cm) are given below. Identify the class interval table for the given histogram.
Y

Mo, of plants

69.576.5/83.5]90.5 975 [104.5/1115]1185]

Height (in cm) s———a

70-76
No. of plants 9

77 - 83
35

84 -90
23

91-97
40

98 - 104
49

105 -111
48

112-118
11

Height (in cm)

(i)

Height (incm) |70-76|77-83|84-90|91-97|98-104|105-111|112-118

(if)

No. of plants

20

35

40

49

48

11

Height (in cm)

70 -76

77 - 83

84 -90

91 -97

98 - 104

105-111

112 -118

(iii)

No. of plants

11

20

40

49

48

35

Height (in cm)

70 -76

77 - 83

84 -90

91 -97

98 - 104

105-111

112 -118

(iv)

No. of plants

35

20

40

49

48

11

Height (in cm)

70 - 76

77 - 83

84 -90

91 -97

98 - 104

105-111

112 -118

(v)

No. of plants

35

20

37

49

48

11




14. Ages of 157 students (in years) are given below.ldentify the class interval table for the given histogram.
Y

Ne, of students
¥
L)

1181 23 4:28 1 33| 38 | 43 | 48 | 53

Age (in years) s——sp

Age (in years) |18-23|23-28|28-33|33-38|38-43(43-48(48-53
No. of students 33 15 39 15 19 18 23

(i)

Age (in years) (18-23|23-28|28-33|33-38|38-43|43-48|48-53

ii
(i) No. of students 33 23 34 15 19 18 15

Age (in years) |18-23|23-28|28-33|33-38|38-43|43-48|48-53
No. of students 33 15 34 15 19 18 23

(iii)

Age (in years) |18 -23|23-28|28-33|33-38|38-43|/43-48|48-53

(V) "No. of students| 33 15 34 20 19 18 23

Age (in years) |18-23|23-28(28-33|33-38|38-43(43-48(48-53
No. of students 33 34 15 15 19 18 23

(v)




15. Ages of 192 students (in years) are given below.ldentify the class interval table for the given histogram.
b

No, of students
v
[==]

1651275 | 355435515 595 6/5 | 755|835 |

Age (in years) s—ap

Age (in years) |20-27|28-35|36-43|44-51|52-59(60-67|68-75|76-83

@ TNo. of students| 13 26 5 35 22 49 19 27

Age (in years) |[20-27(28-35(36-43|44-51|52-59|60-67|68-75|76-383

() "'No. of students| 13 26 10 35 18 49 19 27

Age (in years) |20-27|28-35|36-43|44-51|52-59|60-67|68-75|76-83
No. of students 13 26 35 5 18 49 19 27

(iii)

Age (in years) (20-27|28-35|36-43|44-51|52-59|60-67|68-75|76-83

iv
(iv) No. of students 13 27 5 35 18 49 19 26

Age (in years) (20-27|28-35/36-43|44-51(52-59|60-67|68-75|76-383
No. of students 13 26 5 35 18 49 19 27

(v)




16. Scores of 150 students are given below. Identify the class interval table for the given histogram.

No, of students

(i)

(if)

(iii)

(iv)

(v)

Y
-100
|
|
----- 90
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[
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[
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|
----- 60
|
[
----- 50
|
[
—-40
|
[
----- 30
|
[
----- 20
|
|
----- 10
EXCH
80 | 89 | 98 | 107 | 116 | 125 [134 | 1|
[ e R S T B B e s
SCOre  s——a—p
Score 80-89(89-98/98-107|107-116|116-125|125-134
No. of students 45 40 5 25 25 10
Score 80-89(89-98|98-107|107-116|116-125|125-134
No. of students 45 5 10 25 25 40
Score 80-89|89-98/98-107(107-116|116-125|125-134
No. of students 45 10 5 22 25 40
Score 80-89(89-98(98-107|107-116|116-125|125-134
No. of students 45 10 2 25 25 40
Score 80-89(89-98|98-107|107-116|116-125|125-134
No. of students 45 10 5 25 25 40




17. Scores of 206 students are given below. Identify the class interval table for the given histogram.

Ne, of students

(i)

(if)

(iii)

(iv)

(v)

Y
—100
|
|
----- 90
|
|
_____ lgg
..... 7
|
|
----- 60
|
----- 50
|
|
[
----- 30
|
|
----- 20
| :
| ..
----- 10 .
i . ‘ -'x¥
'89.5 | 965 103.5[110.5/117.5124.5131.5[1385] 1 |
SCOME sty
Score 90-96|97-103/104-110/111-117|118-124|125-131|132-138
No. of students 30 24 8 33 37 42 32
Score 90-96(97-103|104-110|111-117|118-124|125-131|132-138
No. of students 30 24 6 33 37 42 32
Score 90-96|97-103|104-110(111-117|118-124(125-131|132-138
No. of students 30 8 24 33 37 42 32
Score 90-96(97-103|104-110|111-117|118-124|125-131|132-138
No. of students 30 24 8 29 37 42 32
Score 90-96|97-103(104-110(111-117(118-124|125-131|132-138
No. of students 30 32 8 33 37 42 24




18. Rainfall of 183 days (in mm) are given below.ldentify the class interval table for the given histogram.
b

No. of days

Rainfall {in mm)} s————a—

Rainfall (in mm) |6-13|13-20(20-27|27-34|34-41|41-48
No. of days 38 6 41 44 14 40

(i)

Rainfall (in mm)|6-13|13-20(20-27|27-34|34-41|41-48

ii
(h No. of days 38 41 10 44 14 40

Rainfall (in mm) |6 - 13|13 -20|20-27|27-34|34-41|41-48
No. of days 38 41 6 44 14 40

(iii)

Rainfall (in mm) | 6-13|13-20|20-27|27-34|34-41|41-48
No. of days 38 40 6 44 14 41

(iv)

Rainfall (in mm) |6-13|13-20(20-27|27-34(34-41|41-48
No. of days 38 41 6 49 14 40

(v)




19. Rainfall of 209 days (in mm) are given below.ldentify the class interval table for the given histogram.
b

No. of days

145205 265325 | 385445 50.5 565625 | |

Rainfall {in mm) s——a—p

Rainfall (in mm) | 15-20(21-26|27-32|33-38|39-44|45-50|51-56|57-62

i
W No. of days 7 19 37 19 24 30 38 39

Rainfall (in mm) | 15-20(21-26|27-32|33-38|39-44|45-50|51-56|57-62
No. of days 7 19 37 19 20 30 38 39

(ii)

Rainfall (in mm) [15-20|21-26(27-32|33-38|39-44|45-50|51-56|57-62
No. of days 7 19 19 37 20 30 38 39

(iii)

Rainfall (in mm) | 15-20(21-26|27-32|33-38|39-44|45-50|51-56|57-62

iv
(iv) No. of days 7 19 34 19 20 30 38 39

Rainfall (in mm) | 15-20(21-26|27-32|33-38|39-44|45-50|51-56|57-62
No. of days 7 39 37 19 20 30 38 19

(v)




20. Temperatures of 136 days (in °C) are given below. Identify the class interval table for the given histogram.

No. of days

310136 [ 41 46 | b1 | 56

Temperature (in degreg) s——s2

Temperature (in degree) |31 -36(36-41(41-46|46-51|51-56
No. of days 20 17 32 34 31

(i)

Temperature (in degree) |31 -36|36-41|41-46|46-51|51-56
No. of days 20 17 34 34 31

(if)

Temperature (in degree) |31 -36(36-41(41-46|46-51|51-56
No. of days 20 34 17 34 31

(iii)

Temperature (in degree) |31-36|36-41(41-46(46-51|51-56
No. of days 20 31 34 34 17

(iv)

Temperature (in degree) | 31-36|36-41(41-46|46-51|51-56
No. of days 20 22 34 34 31

(v)




21. Temperatures of 265 days (in °C) are given below. Identify the class interval table for the given histogram.

No. of days

27.5.1365]455(54.5] 635 725|815 905995

Temperature {in degree) s——p

Temperature (in degree) |28 -36(37-45|46-54|55-63|64-72|73-81/82-90|91-99

i
M No. of days 27 24 44 40 36 46 43 5

Temperature (in degree) |28 - 36|37 -45(46 -54|55-63|64-72|73-81|82-90|91-99
No. of days 27 24 44 40 31 46 43 5

(ii)

Temperature (in degree) |28 - 36 (37 -45|46-54|55-63|64-72|73-81|82-90|91-99
No. of days 27 24 46 40 36 46 43 5

(iii)

Temperature (in degree) |28 - 36|37 -45|46-54|55-63|64-72|73-81|82-90|91-99

iv
O No. of days 27 24 40 44 36 46 43 5

Temperature (in degree) |28 -36|37-45|46-54|55-63|64-72|73-81(82-90(91-99
No. of days 27 5 44 40 36 46 43 24

(v)




22. Weights of 207 students (in kg) are given below.ldentify the class interval table for the given histogram.
b

No, of students
v
[==]

401 47 1 54 | 61 | 68 | 75 | 82 | 89 | 96

Weight (in kg) s——

Weight (in kg) (40-47|47-54|54-61|61-68|68-75|75-82|82-89|89-96

0 TNo. of students| 43 28 11 18 36 6 22 45

Weight (in kg) [40-47|47-54|54-61|61-68|68-75|75-82|82-89(89-96

(1) 'No. of students| 43 45 9 18 36 6 22 28

Weight (in kg) (40-47|47-54|54-61|61-68|68-75|75-82|82-89|89-96
No. of students 43 28 9 18 36 6 22 45

(iii)

Weight (in kg) [40-47|47-54|54-61|61-68|68-75|75-82|82-89(89-96

iv
(iv) No. of students 43 28 9 18 40 6 22 45

Weight (in kg) (40-47 47 -54|54-61|61-68|68-75|75-82(82-89|89-96
No. of students 43 28 18 9 36 6 22 45

(v)




23. Weights of 133 students (in kg) are given below.ldentify the class interval table for the given histogram.
b

S
=
=

No, of students
U
[==]

LK
3951495 15051695 (795895 995 |

Weight (in kg) s——a—n

Weight (in kg) [40-49|50-59|60-69|70-79|80-89|90-99
No. of students 41 15 9 11 20 34

(i)

Weight (in kg) [40-49|50-59|60-69|70-79|80-89|90-99

ii
(i No. of students 41 34 12 11 20 15

Weight (in kg) (40-49(50-59|60-69|70-79|80-89|90-99
No. of students 41 15 12 11 20 34

(iii)

Weight (in kg) [40-49(50-59|60-69|70-79|80-89|90-99

(v) No. of students 41 15 12 7 20 34

Weight (in kg) [40-49|50-59(60-69|70-79(80-89|90-99
No. of students 41 12 15 11 20 34

(v)




24. Daily wages of 127 labourers (in X) are given below. Identify the class interval table for the given histogram.

No. of labourers

(i)

(if)

(iii)

(iv)

(v)

Y
-100
|
|
----- 90
|
[
----- 80
|
|
----- 70
|
|
----- 60
|
[
----- 50
|
[
—-40
|
[
----- 30
|
[
----- 20
|
|
----- 10
_ X
235 | 245 | 255 | 265 | 275 | 285 | 295 | |
o e i e R T B (B L e i
Daily wage (in R5) s———a—p
Daily wage (in Rs) | 235 - 245|245 - 255|255 - 265|265 - 275|275 - 285|285 - 295
No. of labourers 23 16 14 18 50 6
Daily wage (in Rs) | 235 - 245|245 - 255|255 - 265|265 - 275|275 - 285|285 - 295
No. of labourers 23 6 14 18 50 16
Daily wage (in Rs) | 235 - 245|245 - 255|255 - 265|265 - 275|275 - 285|285 - 295
No. of labourers 23 14 16 18 50 6
Daily wage (in Rs) | 235 - 245|245 - 255|255 - 265|265 - 275|275 - 285|285 - 295
No. of labourers 23 16 14 13 50 6
Daily wage (in Rs) | 235 - 245|245 - 255|255 - 265 | 265 - 275|275 - 285|285 - 295
No. of labourers 23 16 10 18 50 6




25. Daily wages of 224 labourers (in X) are given below. Identify the class interval table for the given histogram.

Y :
--100 :
| T
| :-
----- 90
| :
| :
----- 80
| :
i :
----- 70
I -
£ 60 '
5 [ :
=} | 2
@ [0 .
5 5-
g |40
= | i
_____ :3(;
..... %0 ‘
| :
..... . |
e . : ]
85.5]296.5|307.5|318.5|329.5|340.5|351.5 3625|3735 |
B Eial s il 151 il i 0| Bl imA e e )l B B R A
Daily wage (in Rs)  s——a—p
" Daily Rage (in 1586 -296/297 - 307|308 - 318|319 - 329330 - 340 | 341 - 351|352 - 362 | 363 - 373
|
No. of labourers 18 24 38 22 18 48 23 33
i) Daily Rage (in 1586 -296/297 - 307 308 - 318|319 - 329330 - 340 | 341 - 351|352 - 362 | 363 - 373
1
No. of labourers 18 33 22 38 18 48 23 24
i Daily Ro%€ (in 1586206297 - 307|308 - 318|319 - 329|330 - 340|341 - 351|352 - 362|363 - 373
1
No. of labourers 18 33 38 22 18 48 23 24
(i) Daily ;’{"S"‘)ge (in 1586296297 - 307|308 - 318|319 - 329330 - 340 | 341 - 351|352 - 362 | 363 - 373
[\
No. of labourers 18 33 38 22 22 48 23 24
“ Daily Rage (in 1586296297 - 307308 - 318|319 - 329330 - 340 | 341 - 351|352 - 362 | 363 - 373
\"
No. of labourers 18 33 35 22 18 48 23 24




Assignment Key

1) (i) 2) (iii) 3) (iii) 4) (iii) 5) (i) 6) (iv)
7) (i) 8) (v) 9) (iv) 10) (i) 11) (ii) 12) (iv)
13) (iv) 14) (iii) 15) (v) 16) (v) 17) (i) 18) (iii)
19) (ii) 20) (ii) 21) (i) 22) (iii) 23) (iii) 24) (i)
25) (iii)
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